9.3 Atr = —250/6 us, asinusoidal voltage is known to
be zero and going positive. The voltage is next zero
alt = 1250/6 ps. It is also known thal the voltage
is75Varr = 0.

a) What is the frequency of v in hertz?
b) What is the expression for »?

9.20 a) Show that at a given frequency w. the circuits in
Fig. P9.19(a) and (b) will have the same imped-
ance between the terminals a,b if

R + oL} R + L1
R, = T | [, = L

Rl ’ 2 CdzL!

(Hint: The (wo circuits will have the same
impedance if they have the same admitlance.)

b) Find the values of resistance and inductance that
when connected in parallel will have the same
impedance at 10 krad/s as a 5 k) resistor con-
nected in series with a 500 mH inductor.

9.23 Find the impedance Z,, in the circuit seen in
Fig. P9.23. Express Z,, in both polar and reclangu-

lar form.
Figure P9.23
oo M8

2 o—wa—](

50 00
Zay = —j300 jl00

200 720 O

he .

9.48 Find the Thévenin equivalent circuit with respect to
the terminals a,b of the circuit shown in Fig. P9.48.

Figure P9.48
6000 j1s00 /1500

7500V

9.54 Use the node-voltage method to find the phasor
voltage V, in the circuil shown in Fig. P9.54.

Figure P9.54
1, JEXY]

5/=90°V

9.61 Use the mesh-current method to find the steady-
sk slale expression for w», in the circuit seen in
Fig, P9.61. if v, equals 72 cos 5000r V.

Figure P9.61

9.65 The 1 uF capacitor in the circuit seen in Fig. P9.64 is

e replaced with a variable capacitor. The capacitor is
adjusted until the output voltage leads the input
voltage by 120°.

a) Find the values of C in microfarads.

b) Write the steady-state expression for v,(¢) when
C has the value found in (a).

Figure P9.64
200 kY
—AM
10k 10 k() 12V

Vg 1 uF
I A4




i

i :
) Lor a  ginuserdal mave;%fm
| v=l Vil dinl (o |4 g Wwe 2Tt = dovo T [rod/ )
{1 1—59 L Bbb:el | | | VS
''''' T 5D g gy | i
| | 8 : % 3bo ¥ - - 0]
2 U=V gia (oot + 30°)
18 [z | Lo | thok | U= 70 N ab |40 | | | , .
i , i
| =] V. |14 B
. S I 5.0 H;ﬁ V 5 i
= V= [150 Sin (4ooeT b |-36") | |
of V.= (5p|cos (4eoe Tt —Lo")




@  Cor (&>, the | od mittance

\( _: = l‘ :A e J e e {2‘ de! | : tz, —Jml_,
v @\’f‘%.\ | 2& +JWL-x (fz( +J03L Y, (P‘ i “‘QL‘ 7 (2{; '\'“ U’;[—%

= | ‘( (‘ J ‘ | ;
I == = e = - i 1 ;
| Y"’ 1 R *- e B R RE S SRR N e (U N S O e

By CW#rznf; Eeaf Lk Lwajinany Wg of i @?fb
Yo=Y when 2

:a af >
il e o ] —ts S e
) B> R +w“L_2‘ s L3

W/ sz R‘ﬁ—‘ﬁ‘ w; L {J,v L'& UB— L‘

b) g( = b, | L, 2500 m;{ ; ho}: Mol/s = {©+ Y‘a‘i/S-f

@y; [ G S A CT O + i epobid™™] | fn | | S

ol pr > () ¢ Cexlor)™ + (i q”xgmxm i liH
yu

—

£ S5 el SR e ((o%)*x beo k(O | | | e

VY



Ctm

o -140n

o \AA 1 I | | |
¥ VYV 1 | {

2L

Zp =2+ +25

1) Zi= 10~ 4o ,0-

0 z.= (5 fJfaopf//; (lo+J10)

. L 633)lo+Tie) | . $-ikeito i
| 1 (5=J30Y 4 tlo -mvgnj By o :

T g | (o-55 )24
1’5"*‘-9 (1—‘\J4-><?>1J4'}

4@ J—lo —J 150 +5 290 4200
25 |

o 3o [ L lld d4lela] 1o
25 | | .
i) 2s = (20) 1 p-a)
0o o o =
E i o R R T

BB I O N R R O S
(3D r=3D

_| PO | | = id e (g
| <2 1 i

ENENMEE S NEE R

n

AN

Uo - J4o) 'f'UMH- ,;2,> - mm(@
%e 4 =] 1+@ CEEENE 5

ﬁw

=ijzes4ﬁ—m 7 L_e SE
56- 4- 'SSD

EEZToEr v ol R 2




qv i =t ;[go.n_ PJI’SOJL
; | /\N\/——(?W»-TJ——{ : ; :
75/-DV ﬁ;@/ @ﬂ% SR NS o U,,._;__@_~, R
! 'vb : 40__,3{;0
KC(/ at Vi nede : |
e e |
beb <] | (50 | | Be-[lko 1 |
V\;‘“_?g 7,__, 4""(‘/‘ 2 + 4 ‘ =D
600 +|50 58 (40 ~j|50) | 4o -|5D
i35 | [ Goldbilopy ] [ J
680 + J150 40 - (50
vy + 0.2V, ~ 5.
_boetl1150| | Ao —jlBa | | é@o*d
bo + 315 70 =l 4 + 3

/,.“

Ui(eo =3 15) +i o3 15) —;H (60*‘&{9)(»@ -3 ?‘9
Wi Lgo«{ém = EX|I5 (bo—3T5)

?5’"(%9:375? - 15 (4-J15)
%‘Q J o | b ~dis

b Zo=31iD Vi T-31¢

B (4—~;'§) & el T
1 - 1 50 P T i P X %

| 15 /_c;ﬂ
SR ey 1 L
=15 /=6.87

; b 2 ‘ L=
“itpl | —iE® ‘ | ‘
5 LDC“gN s | LI;U.,-— TS/éoo =015 A

. ZTL" - e = N7 (3687 = 10 L"7_5_£97 0 | 30

T |

20 (36.87F 150 - Sin (34.87° | |
OK(«—(QL._%ST‘T') n)+J 7)> |




B
e

ﬂmj?ﬁjl

U

1L

..J},ﬂ,;

N

520" p(E

,E(Q ML *’€P (5"&— 30 B | |
é(V«:'ﬂJﬁ) + O(VO"'V1> ol

((\)Wb Yy woie_

J

i

—J15 Ve ,fév;, S+ g0 + Jto Ve '—nj!erv, =0

e
Tron

S V@. = - L
(‘? J5> "'(J °3 =

Vi=Vo

(6-38) =51o% =i |

R AETS)

=315 ~(Ui-b) T+ 3B) =0

e i =

@QE) "'7\5

éo —J ;‘p

2V "?‘?— J5

,~J‘P+!5’" LB

e (6-15) ~Jeu = 730

lol=-30 | |

=D

—-Jl5

\

e RS

7 e

b= Jm(‘%’?

U
i
b
R

ot e e e T T R R
| 18-

=T 49 [-570¢|. |




Q.6

G | ponT

*"(9.!.0

#
- e | ,
- Vg = T2 Cos oot
2 b Lt lg= T2 /00 v
<_ 5?94‘45 = ‘ |

e f>— = j70 da 450 7L;:E"hit%)jw;hé;’%o o
= J70da + 50 ( da tip )+ 50w

b= g0l = (sovo x 14 X67) 2jT0 O

/A)C’ /5060%’500)(!0’?) =-~J200 52| | |

T = la(@+d70)+4¢(£40) ;_w__,...,__?,__,.,w...-‘@"

i) 5‘?@ g T=LO( ~ag ~4a ) — J¢ (l6 ——\j 40&) .
D = ia(~2p) +ip(—4F0~4D ~ 160 15440

la

Pl
—

= Aalrfp) +if (Foo +j FoD)

z;s(‘

é‘m'w%@) = ,z,»(ﬁzé ~+if) -* ***** @

&P

sl @ &1 T 1T

To =i (~1641d) (£D +J T ) + iy (640)
=4y (=00 +; 4oo—jlj20 ~ 5D +E40 )

Y ? .
Sy =

n’ . ,MG’,

=lp (-T2 =jPe)

TR

peoeny

Do +) 730 | [D4jlo

—(mwjm) | || kol | | | ||

(f“‘ ol -go) 1 | 2oD |

=6—“5“9 +_J ¢0) M.

]
—

=ig b0

= (o »ufo) begot?-Ix i =12 | | | |

= d - \/o‘”q‘-&} Zﬁf = -3/ é.4§°

= 3/ cos (Lot — 452 | | ®


gomgom75
Stamp


77 e 8 B P
wntil +he a’zazz?wf‘ //bé%ﬁ& leacte e
e Voﬁ"c@je by [20°. e

Ug AL &95 /a*a—é

@ B
(deal op ~onp w—) =Y.
| : LA Ve =0 (eup)

6‘({4 =2 : e Ua ”
| A,,z,c T Teess it

(/000@ wc) r /09&2)

: (/a _ L treees 0 B | w_,w_/f
/mm - Jmc BREEE © o d o C AR

:(/a 0"Vo 1 ' ) | |
Ve | oW PRI T IR AR AD T
[t [ %op | [ 1 [ i %

_ﬁv’” ©, @ o= /"}Oya

m,
| 9 ierm | | D gmpxeft Lol | !

ad /807 | |
L H Wl X (of

f/o[eﬂwf&y% ! bg e [’},o“ =—W ﬁ@ﬁ?/ﬁ[’é&ﬁ’“ m(ﬂ&gé@(’ > : e o

| D l ‘ ,
et iE o tanfo’= V3 = HEXOD

ITEEERETST EEEE T loo)
7 Ke i ] |
P £ S |

A 6O

LooxiF e

W”-

st _2-;7:4/&0‘ - = 4/430 | | |
o Cb 4 ,,%,,, —,,,. | K - FEESERN) ol o7 A1 o el S TSR RIS o , s i JEEIT TRCATRICS IR SRUNS RISGAES i

Vo= 4 cas (oot + (20 )




	Slide Number 1

